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1. He smoke 20 cigarettes aday but he stopped smoking a few years ago and now
he'sreally fit and healthy.

a) was use to

b) isused to

C) useto

d) used to

2. She sweets and sugar when she was young but now she's trying to lose weight so
she doesn't eat so much chocolate.

a) used to love

b) usesto love

C) used to loving

d) used to

3. He didn't like spicy food when he was young but now that he's lived in India for afew
years, the taste of hot chillies.

a) he'suseto

b) he used to

) he'sused to

d) hewasuseto

4.1 think | recognise her. in the bank on the high street?
a) Didn't she used to work

b) Didn't she used to working

¢) Didn't she use to work

d) Did she used to work

5. She but when she started going out with him she suddenly got all interested in it.
a) used not to like football

b) didn't useto like football

¢) never used to like football

d) Any of the above

6. He grew up speaking Spanish but he's lived in Canada for so long now that he's
both French and English.

a) useto speak

b) used to speaking

C) used to speak

d) None of the above
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ANSWERS:

1. He smoke 20 cigarettes aday but he stopped smoking a few years ago and now
he'sreally fit and healthy.

a) and c) The form isn't correct. Try again.

b) Thisisalmost correct but you have one extraword here. Try again.

d) Thisistheright answer. Well done!

2. She sweets and sugar when she was young but now she's trying to lose weight so
she doesn't eat O much chocolate.

a) Thisisthe correct answer.

b) 'Uses' isn't correct. Try again.

C) 'Loving' isn't correct. Try again.

d) You need one more word here. Try again.

3. He didn' like spicy food when he was young but now that he's lived in India for afew
years, the taste of hot chillies.

a), b) and d) You need a different form here to show that hot, spicy food isn't strange or
unusual to him now. he'sagrown

¢) Thisistheright choice. Well done!

4.1 think | recognise her. in the bank on the high street?

a), b) and d) Thisisn't the correct question form to ask about where she worked in the past.
Try again.

c) Thisistheright answer.

5. She but when she started going out with him she suddenly got all interested in it.
a) Thisis correct (although it's very formal) but there are other options that are correct too.
a) Thisis correct but there are other options that are correct too.

a) Thisis correct but there are other options that are correct too.

d) Correct —all these answer s are ways of saying you that she's changed since she
starting seeing him.
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6. He grew up speaking Spanish but he's lived in Canada for so long now that he's

both French and English.

a) and c) You need a different form to show that he now doesn't find it strange or usua to
speak these two languages.

b) Thisistheright answer.

d) One of these answers is correct. Try again.

Try the quiz online:
http://www.bbc.co.uk/appg/ifl/worldservice/quiznet/qui zengine?Content Type=text/html ;quiz=1627 _habits
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